RAERZE 101 S2FERTIEANEERAA

R B LR BE %A AR R
Anmslta gl g (Jo B SRARBEPRI R & > B REH B RA A HT)

O AR (-3 5)

A. geographic range and distribution

B. metapopulation and local population

C. dispersal and dispersion

D. cohort life table and time-specific table

E. demographic stochasticity and environmental stochasicity
F. Allee effect and self ~thinning

G. density dependence and density independence
H. home range and territory

L. source population and sink population

J.  fundamental niche and realized niche

K. functional response and numerical response
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A 04
B. 0.6
C. 0.8
D. 1.67



4. TSRO SRR ?

A. most plants and algae are C3 plants

B. in C4 plants, acid produced during carbon fixation diffuse to specialized cells
surrounding bundle sheath. ‘

C. in CAM plants, carbon fixation take place at night

D. in CAM plants, carbon fixation take place in bundle sheath cells

5 . Freshwater fish live in a medium that has lower salt concentration than their bodies.
To maintain homeostasis, fishes need to

A. use salt gland to absorbed water

B. eliminate excess salts acquired through drinking water

C. use metabolic water to reduce water loss

D. eliminate excess water absorbed from the surrounding medium
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8. Poikilotherms exploit microclimates to regulate temperature is called

A. hibernation physiological

B. physiological compensation
C. behavioral thermoregulation
D. thermoneutral zone



9. TR e 2T ?

A. thermoneutral zone (TNZ) is a range of environmental temperature within which
the metabolic rates are maximum

B. outside TNZ, marked by upper and lower critical temperature, metabolic rate
decreases

C. when insulation fails, ectotherms start to shivering (thermogenesis)
D. Ectotherms have lower TNZ

10. Poikilotherms

A. are endotherms

B. can regulate their internal body temperature by increasing metabolic rate.
C. include mammals and birds.

D. have body temperatures that vary as environmental temperatures vary.

11. Terrestrial animals satisfy their water needs via eating, drinking, and .....
A. basking

B. hibernation

C. metabolism

D. torpor
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1.

In evaluating the species diversity of a region into different components, ecologists
often use Alpha, Beta, and Gamma diversity indices. What are the differences
between the three diversity indices? What is the defined mathematical relationship
between the three diversity indices? Which of of the three is so-called “species
turnover”?

. Invasion of introduced species has become one of the most pressing ecological

issues throughout the world. It is often found, at least in smaller spatial scales, that
increased native species richness reduces the number of invasive plant species.
Please discuss the underlying the mechanisms enabling plant communities of
higher diversity more resistance to invasion.

. The trophic dynamics of an ecosystem can be summarized using a pyramid of

biomass (see figure below). In a terrestrial ecosystem, greater biomass is often
found at lower trophic levels; however, aquatic ecosystems have less biomass for
primary producers than for higher trophic levels, leading to “inverted biomass
pyramid”. How is it possible for primary producers of lower biomass to support
greater biomass of higher trophic levels in aquatic ecosystems?
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